


1 1

— + — B33
1+sin@ 1-sinB®

(A) 2 cos? @
(gff 2 cosec? 0
(C) 2sec?0
(D) 2tan®0

(0, 0), (2, 0) &3 (0,3) ATFeTOBTR),
goﬁﬁ#@p BRODTR 3030373 me%aie
%oﬁd QB eToBND

(A) (3,0)
(B) (0,2)

€ (-2,3)

(D) 3.2
DORTRAYAR 1.oBd TRYRRY soegRmn
3 8 rbrasriv BrEotos Rowmdeods

3 | cADEY

1 $1
© 5 00 S

(D) 1

(3)5 - 3%) o) €980eT08
(A) (3% +37% +1)

(B) (3% +3% +1)

C) 31+3+1)

(D) (3%+3%+ 1)

< B
L W p‘:\"A \ xB\xs\“e?:- C0SS,

N
dinQ

0%

. The value of 37 5ing *

[

1 .
_— IS
1-sin0®
(A) 2cos20
(B) 2cosec20
(C) 2sec?9
(D) 2tan20

The co-ordinate of the 4t vertex of the
rectangle formed by the points (0, 0);
(2, 0) and (0,3) are

(A) (3,0

(B) (0,2)

(C) -2,3)

(D) (3,2)

An unbiased dice is tossed, the

probability of getting multiple of 3 is

The rationalising factor of (3 - 3%) g
(A) (3% +3%+1) /
(B) (3%+8%+ 1)
C) B 1+34+1)

(D) (8% +3%. 1)
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5. B8RP, w%mencbd Roz,

——

8 6 30 8 n

7 18 ¢

(A) 20
(B) 19
(C) 15
(D) 14
6. o BINSINTD Wead BeNTOR wInsh

I " v

| v
N |
| I € . IV
- (B)
I v
Sl o
g L)
7. Bewdnd: 7

1, B Jpeonsd REBc370RD.

2. o RACIRORER Beon.
aresodondb.: 1 nneD S

I aoamzseoﬁdfa §17.Jesop\ogL=0M!

Il B Beondn Ppesdndd. v,

1. oo, FPERONED ﬁ,aodndrj%v[* ‘
IV, g0 Beonsd RecIRTN. .

(A) DroraBrisd | o3 Il eRRORIES
(B) Deorodonsd Il R, LRORORZT

~

() Reroordll o83 IV eomomss

(D) Rearodrisd] 5 I sRoRORoFES

5. Here, the missing number is

8 6 30 8

7 18 ?

(A) 20

(B) 19 UIJWALA ACADEMY

(C) 15 # 784, Srishti School of Business Building,

(D) 14 Quter Ring Rozg, Hasakerehalli Cross,
B.SX. 3rd Stage, ENGALURU - 560 085

. The missing figure is

SR e I
w L N_'\
=N
B
o [ \_\_:J

e 7. Statemehts:

1. Some phone are watches.

2. All watches are bags.
Conclusions :

I. All bags are watches.

II. Some bags are phones.

lil. All phones are watches.

IV. Some bags are watches. -
(A) Conclusions | and |l follow
(B) Conclusions Il only follows
(C) Conclusions Il and IV follows

(D) Conclusions | and !l follows

—
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8. g mohe BrbrRiess ooy

10.

11.

12.

()
(D) RoFod &TOOH Sone Fune Swdes

DBFS

(A) Rorod REROR LBomns 5%
Bond Pl

OR,H00T BRFS TR oY
Ro@RRUY No, Wk

Rorfodd FPHT0R DB0RRIED

(B)

.....

RRBRCOT TORIFTO

Broomoedgod XRRN0n 2Penddds
dsgozbo m‘zzpa&)smn 83 aﬁéréoﬁod)d
TTEFAZS.

(A) 3es0e000T3 e308e30F DOIPOTS
(B) =,0300 Bed oD BWEFARS

(C) 22308 RoBRTR), NPBRRTYS

(D) 5308 pHIRTR, TPCIRZS

moba’mufo 33 Bo0DF D00 Tordd
02 T[ONSNTIR) DBEARI B

(A) &8 [Bos

(B) S egiods

©) TgeEimdog

(D) ec3ToREneES

BeR50300730 FCDBR IF VLSOD), 34
Soes eudezdzs.

(A) 2O &5 303,

(B) x50 eoRyeod SoRpeys
(C) BeoReBS ed

(D) ;D?eogeﬁdea Qes

ZOO0 DR, NY Szzba" VB -
T A N
QNG . .

(A) Be (epgR)Zoednsd

(B) oo a;>§ _

(C) FpeiddRy

10.

(D) BoBSrisd
ALA A
gishti Schoo! 0

’ ad V7
Quter Ring FE™

~av U

UIW
T84

CAD

{ pusiness **

11.

12.

. "y a
A suitable behaviour 15 exhibited by

good leader in F
(A) announcing reward and @

the member of organisation |
(B) maximum utilization Of available
human and physical resource
(C) controlling the employees of the
institution
(D) managing th
income and expendituré

rd for

e balance between

Individual suffering with adjustment will
naturally exhibit this behaviour

(A) become introverts with inferiority
(B)h exhibits self consciousness

(C) respect the suggestions of others
(D) respect the views of others

The method, a leader is using to analyse
his efficiency and limitations through

“(A) self appreciation

(B) case study
(C) defence mechanism

(D) introspection

A leader of a department promotes his
policy through

(A) divide and rule technique
(B) ego centric attitude

(C) centralized policy

(D) decentralization policy

The activity which promote good
adjustment among school students

= (A) public exam
~ (B) school excursion

(C) parents meet

EMV (D) punishments
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13, t.omd SORSHA SF B LR 40308

SONTTT, fac:?e éo;ddab A Qmonosmn
SREe 12c3a€r<e§ab 3ﬁdoiraoc36
B tymonodnn SRR N O
3RERAB ?
(A) 4 o3rsd
(B) 5 o=ned
(C) 6 ORI
(D) 7 o

14. P,Q,R, ST i Fem5o03 e
F 29IRG, R ) ‘P’ WOLRNE, OB

‘S’ S ABFNAT DOEICHBTNS.
P'&3)'S’ G E: fa\cba;i)aegqmdd,

R’ 82008 20@scbR ctRmndes ?
(A) Q
(B)
(C)
(D)

T HwmwPO

15, 3ou30ba 3RO Seowny Boss

(A) 20
(B) 24

(€) 28
(D) 82

13. A and B can together complete a

14,

15.

piece of work in 4 days. |t A alone can
complete the same work in 12 days. In
how many days can B alone complete
that work ?

(A) 4days
(B) 5days
(C) 6days
(D) 7 days

P, Q, R, S and T are sitting around a
circular table. ‘R’ is to the right of ‘P’
and is second to the left of ‘S’. ‘T" is not
between ‘P’ and ‘S’. Then second to the

left of ‘R’ is

J\R= :
MY
(B) S | LA AC As“ggau\mmq

c) T VIS noolotBY 085,
) § 784, S %c(;gd‘\'\()%a\(e‘e“a\\jggg 0Ff
D) P 7 quter Ring e, GENGALUR

g« 3d
The number of triangles in the
figure is
(
o

(A) 20
(B) 24
(C) 28
(D) 32

S-2
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16. X2+ pxX + q = 0 BRFR0BIHT Fwverricy

17.

18.

19.

-6-

~1 308) 3 &35, p’ A3 ‘g’ 1Y e3e3
(A) p=3,q=2

(B) p=2,q=3

(€) p=-2,=-3

(D) p=-8,9=-2

2,000 TR 2B ©o2BRE &rhud d
20 cm 338, 930 DYEEDF

(A) 100 cm?
(B) 200 cm?
(C) 250 cm?
(D) 400 cm?

DOR) L0ZRF RS FFner
STOWTIOT AT, FFFBNY mosg

(A) O |
A ACADE

(B) 1 UJWALnoo\ of Business Btding.
osakerehalli Gross,
A

§ 784, Snsml Sc

C ter Ring Road, ;
(G)%s Bg“,(_ 31 Stage, BENGALURU -

(D)2
eqﬂrrﬁme%géo:b RO a’beq» DAL
(A) nr? '

(B) 2nr?’

(C) 32

(D) 4 nr2

WA

16. —1 and 3 are the roots of the equatio

17.

18.

Y

19.

X2+px+q = 0 then ‘p' and ‘q’ are
(A) p=3,q=2

(B) p=‘é,q=3

(C) p=-2,q=-3

(D) p=-3,q=-2

The base of an isosceles right angle

triangle is 20 cm then the area is
(A) 100 cm?
200 cm?
(C) 250 cm?2
(D) 400 cm?
The number of common tangents the

can be drawn two internally touchin.

circles

Total surface area of a Hemisphere i;

(A) nré

B 22

(C) 3nre
(D) 4 nrd

S-
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20. 6903000030

21,

22.

23.

(A) ORI

(B) &ZoBRYR

(C) oo FoDTD.
(D) RemTO

P RTod YR wBRTD B3 FINTIS
gma‘% L PrNTT3
(A) 888
(B) ZoT-300L
(C) Re0BOIRTD
(D) ICBRTOH

TR R mssddimoé SRRTI
(A) wWoSodh Foees dod#}gt deoyegon
QB0 TWOBINLD TS N3

BRTIBeIeBd
(B)
D03 BREWoDLIER
DR, STORN TOBINTR), L0OBIER
ROTEZe0N DO TBRE TR
TODESFT OB BILD WY
QO3 RROOINTTS FRTLIER

(C)
(D)

TODFHIB OB LIV IRIwIN

BR0309)_ 2,083 FYord Mo TN

& AVBTEY, e

(A) mas‘ﬁaﬁdo ©Qode 2ed) LB
é:aerb&)b

(B) 0o e2pmonen &)a:!o'b SYRIDD

(C) o nroant HFodk m&aﬂd&l
008 BORQD

(D) WodnedBon T BB
BTG, TR BRRELIER 08 FHowd
ROo&RE0O DF08TID0

RSO0 FFOL T, 03ReIFTR DN

20.

21,

22,

23.

QY o
An introvert is ?’QP\;;@Q'*,:\’&
(A) Jovial O ‘&‘@w@
QP P
(B) Anxious  y) %(g\\“ Q‘,,ps%@@‘
(C) Impulsive (\%‘* \Q\\&% .
(D) Outgoing Q;__)k%

High school children are influenced to
a large extent by

(A) Teachers

(B) Parents

(C) Peer group

(D) Neighbors

While driving a public transport vehicle
one should

(A) Concentrate only on driving
without allowing other vehicles
to overtake

Chat with commuters to spend
time

Overtake all private vehicles
Drive safely and allow time to
passengers to board and alight
from the vehicle

(B)

(C)
(D)

When an unruly mob blocks the road
while driving a public transport vehicle,
you will

(A)
(B)
(C)

Run away leaving the vehicle
Inform higher officers
Request the mob to allow the
vehicle to move

Request the mob not to harm
passengers and damage the
vehicle

(D)

S-2
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24,

25.

26.

27.

. Usine :
Outer Ring Roag Hosakerehaffi g ulding,

B.SK 3q Stage. gf

PUZ0 De30k ©o3o°H,3 ROWOTNIRY,

WP S0mona es03.

(A) =ORT rPo

(B) R b2y obERs) BowBRRF

(C) =08 ITuReT ThHROIVFD

(D) Sdg‘ i 9aalI) B TSR
BTEFARTO

20RN T BFBTINTOH0S ?Daigyafgt EADTALY
B@bft@’mﬂ QY B Eﬁmdrams%
BT OFT TS &d&mo&;rﬁ#ﬁg{ es0z3e
TPLIFRRPILD aiwa)séﬁjda RRWROZT,
&7 a3 SeSToF S
(A) Zon ROﬁJFﬂ%‘fd& 203N B
(B) Zon moodrmdodre doZoon )
(C) SOMOIT sZFR BoeoRsd Fzoah
BRI

(D) s T6r FoDY>

R’O%Oimodd JOOES e:aéd.bé‘ozs eusies
(A) o3 ROTIROTR), w2 ROROD
10 FHRIT)

POTROE a’dz:?eéﬁ#aig{
ag,asgmm@m s
,-sw%oam Qiraeﬁieﬁoaﬁaigt
DBTRNRBOFT |
RRNTIODNTS STRFT #oféomn
BRI

(B)

(C)

(D)

IR TO03BR 33 3033 laztels)
U3 e3RFNTO) R

(A) Fodss EOIA OROB

(B) &T0e3 83¢8 Rna3 rdies

(C) B3 Ok Sy emZriroan2

25.

26.

27.

The factor, is Not helping good kind of

interpersonal relations
(A) mutual respect S
(B) sharing the work and succes
(©) en mindedness

(D)

working with op anes
exhibiting seperateness in his
work

Imagine that you are a teacher in private

school. Your child has met very serious

health issue and the same day HM

demands to complete the work on that

day only. Then your decision is

(A) taking school work to home

(B) involving in the school work

(C) asking the help of relatives to
care the child

(D) bringing the child to school

The main objective of the leader of an
institution is

(A)' achieving the goal by using
available resources

arranging frequent training
thinking of the welfare of his
co-employees

making the institution attractive in
the community

(B)
(C)

(D)

Good leader is to promote hig team
members

(A) extension of individual facilities
(B) nature of extreme comments
(C) duty boundedness and
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28. SNRD &3 Bkossotdt 27003 RBFT)

29.

30.

31.

32.

33.

Zoedonoades &
(A) Bee3d*
(B) DoTHeF IR
(C) e &R
(D) pe*

(03T ok T 0@ 2017 3
o, IR 83 3083 DT R
mmdg Swos ZBY nes.
(A) T8RS
(B) momdezf
(C) e
(D) 23T000°

Bl

83 0 TEBNE TRI 53,03 2FoTd

‘SF0EF WBR®* ST faci
(A) Sewod Do Lelesr
(B) T3 m 83e3e3°
(C) Sezo$ d.)@b 003
(D) rﬁﬁsﬁé_ﬁmx
83503 TBY, z::sabri OB TRE | |
(A) 2001 |
(B) 2005
(C) 2009
(D) 2012

T IR &323 NONO:D Q§ Ud@ﬂ@d)ﬁ

D003

(A) eﬁir%euc‘ 4
(B) eﬁ%cuc;‘ 12
(C) eBrewo 20
(D) eiraeuc‘ 24
P PBES oazscpze'o
(A) oplerX

(B) ooodgo*

(C) Zzordns*
(D) Boe

UJWALA ACADEMY
# 784, Srishti School of Business Building.

28.

29,

30.

31.

32.

33.

Outer Rina Ro24. Hosakerehalli Cross,

The App introduced by the Government
of India for cashless transaction is

(A) Pay Tm

(B) Airtel money
(C) OLA money
(D) BHIM

India won the 2017 Women's Asia cup
Hockey by defeating

(A) Pakistan
(B) Bangladesh
(C) China

(D) Japan

The highest peak ‘Mount Everest’ lies
between these two countries

(A) Nepal and Tibet
(B) -India and Tibet

(C) Nepal and India
(D) India and China

Right to Education came into effect
from

(A) 2001
(B) 2005
(C) 2009
(D) 2012

The United Nations Day is celebrated

. every year on

(A) October 4
(B): October 12
(C) October 20
(D) October 24

The Capital of Chattisgarh is
(A) Ranchi

(B) Raipur

(C) Dehradun

(D) Lucknow

S-2
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34. X3+y3+z3=3xyzd>33x+y+z=0

35.

36.

L 0.6,

a7.

38.

A0
S ® -1

-10-

ong X+y)  (y+2) | (2+x)° g
¥s X yz x

(A) 3
(B) 6
(C) 9
(D) 27

ax3+4x2+3x—4 203 x3 - 4x + a ow
w&a:fdﬁv‘ag X — 3 0T gV wode
JeR s ‘a’ 3 3¢3 :

(C) 2
(D) -2

3x2 - 2x — 1 @ 3x2-5x-2 3

(A) (x—1)
(B) (3x+1)
©) (x-2)
(D) (3x-2) ' S'_
pr )
oxar) =9
f ﬂP(L”:”

AN R

A{E, 919,377

>l
(A) 73
aﬁs
(C) 76
(D) 78

RO : 203 11 290 Z2s: 7
(A) Rez

(B) Qwod

(C) Zomord

(D) ooz

AT

= -~
<

34.

35.

§

=
>

36.

37.

38.

. x
AN A PAYRYT
vt 8N "»"-"n’\"'&}

|fx3+y3+z3=3xyzandx+y+z=0
then the valué of

(x+y)? +u§_)i+_(_zj'_)i).2_
xy yZ

@) 3/

(B) 6

(C) 9

(D) 27

The polynomials ax3 + 4x2 + 3x— 4and
x3 — 4x + a leave the same remainder

when divided by x — 3 then the value of
‘a’is
(A) 0
(B) -1
(C) 2
(D) -2
The HCF of 3x2—2x—1 and 3x%2— 5x 2
is
(A) (x=1)
B) (3x+1)
(C) (x-2)
(D) (3x-2)

2,5,9,19, 37, 2
(A) 73
(B) 75
(C) 76
(D) 78

Pigeon : Peace
(A) Friendship
(B) Victory
(C) Surrender
(D) War

: - White flag : ?

S-2
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39.

40.

41.

42.

43.

44.

A BT ISP TONVBRSY 9

(A) ARRTS 0L/ BT roods
@oj;oqmcic)d

(B) RRBS zfmgob LoTe Dedod
IS ;ia’arimbde

(C) BB L.0c3¢ Dedom noY, ©xg
) YBBF BRoOTHI

(D) R OV 33 BT

A ohnen EmSHvab udnw:@cﬁaﬁa
&aeﬁaﬂo =™,

B) ssgom  \))WALR t\x Busines

(C) @383 § T84, gishl Sc“d Hosa sakereld

(D) mad ou;ers\\‘g‘%“o RENGALURY |
BS

BTN ReHTFOD, RE00E RN

RRATASR

(A) 0333’7#6#63 méﬁo*‘@m@d&od
(B) .

(C) &:oé’ﬁdaﬁm%b@ﬁ

(D) do%m,vrﬁ%‘f& BROTOY T

53R RS RIRE, g
PS030 SR8 DF0T3

(A) 339, FeFey, FODBOL,
(B) dod:&a? rbsaﬁe}sb wex%?od)c:b
(C) *Dddefrﬁécmﬁa d@w@d&

(D) RO =8y FORMTS FS Sugad

ROWOT ménoqf)cb

2&NF O30

(A) 3O

(B) 803y
(C) 33z abm#aﬁab
(D) szssq)wm

LY, FI0I0 3 F8obhe) 2IRBLoI0TTd
(A) =T Beas drdeon

(B) 53016, Rodmex arinmr

(C) 23O M3egy, ve0mn

(D) o Beszomrt

™

—

39. This is not a characteristic of group

behavior
(A) Actions are controlled by group

(B) Members of the group show similar
behaviour

(C) Members have common goals,

interest and ideals

(D) Members have different

background

40. Providing opportunities to differently

abled person is known as

D guldicg. (A) Empathy

(B) Sympathy

560 089. (C) Humbleness

(D) Kindness

Frustration tolerance cannot be achieved
through

(A) Improving efforts

(B) Submissiveness

(C) Withdrawal

(D) Setting high aspirations

Construction feedback in the place of
work is essential to

(A) Promote inefficiency in work
(B) Criticize personal thoughts

(C) Promote transparency
(

D) Establish support between
employer and employee

An extrovert is

(A) Rigid i
(B) Anxious

(C) Open minded

(D) Even tempered

fvo\‘

A person will experience burnout in his
job when he

(A) Is paid adequate salary

(B) Is not happy with his job

(C) Has no freedom at place of work
(

D) Has few friends
S-2
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45.

\ ®

46.

47.

48.

49.

I3,

w3, 8B3, WY, B0 ) 398 1Y) 150 BRmen

RN emaiojmf 3o, ozﬁrf@o

(A) @Q0.0%°. Iz°F, us:Sa‘ SQeR* Frice,
DB 380 T L3o*

(B) 0. oxf. DFosmoonots®, Hwd
SLET® ROTTT, WTX® SLERT Q0L R

(C) LTI es@ex® T, 0., DFEF,
(IR} e] LIS

(D) OB Betnedens, LTI esex®
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TSO0* TROW0EF [RIST KowoDHTOB
5303 RRgOE G0 NG, |
(A 2odh
dae’o c;i ?003353 aba ﬁeoﬁw&m
(B) oL qﬁ‘ wmew aF3)
daf R0oZTT ﬁedab eoﬁwaodo
(C) 2008 &, &. 83030 m@ 3081

R BIID, =T SLDEA e
RRBIBID s
(D) 2.0z &.&.8300) T3, =[0O 033
303,083 HREETNG
t.053> CD-ROM 53¢ BoaoD o,
Ron®mso e ety
(A) 1.4 Q0.2
(B) 8.523.2
(C) 4.7 2.0 D)
(D) 700 0.2
ARNPA Bozpearmon Q-oeer
#ouo@&d R
(A) ex,, nene* Bw's, B-oeer
(B) 0. %F. o3, nener 8o,
- odn@ne Seess
(C) z-eer, 0. dF. W3 e05°,
o3RI e
(D) 3&3‘66&‘, WO, O3RJR e

TEF 8RR (Ctrl+U) Zoesrreess
QoI &03s AN

(A) 80ReR ars meed
(B) e80n¥R; Sgdmndes
(C) e80ndR5 L. anmsgd

(D) egdrfd aimi plofsopl. e

2,883 TR&8° cﬁadowa? '

45.

46.

(A

47.

48.

49,

[RALAR A

The softwares helpful to typing a letter,
document, reports, newsletter are
(A) M.S. Word Open office writer, libre

office writer
M. S. Powerpoint, Libre office

impress, Open office impress

Open office calc, M. S. Excel,
Libre calc

Libre database, Open office
database, M.S. Access

The most related option about power
point presentations is

we can add only graphics, animation
and Audio in a ppt

we can add graphics, animation,
Audio, video etc, in a ppt

only we can calculate a set of
numbers in a ppt

we can make a letter, report and
software in a ppt

(B)
(C)
(D)

(B)
(C)

(D)

Maximum storage of a CD-ROM is

(A) 1.4 MB DEMY

(B) 85GR)IWA s?ooﬁf% Amess Bulding,
shii S¢ s,

(C) 47 Gl$7es\4n e?‘ﬂ““) ag, posakerenalli G108 \_

(D) 700 M80 a7t Stage. B BENGALURU -

One of the follownng group which
completely related to E-mail is

(A) Ask, Google search, G-mail

(B) MSN, Google crome, Yahoo Mail
(C) G-Mail, M.S. Outlook, Yahoo Mail
(D) Nets cape, Bing, Yahoo Mail

The function of the shortcut key

combination ‘Ctrl+U’ in the word
document is

(A) It makes letters underline

(B) It makes letters bold

(C) It makes letters italic

(D) It makes letters strike through

S-2
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50.

51.

52.

53.

54.

55.

-13-

pdeaF OHOORRR " AOBEP ROTTET: S0.  The Founder and Chairman of
) BRI “Jet Airways" Is
(A) " 306 e’ (A) Naresh Goyal
(B) SAFER 30000’ (B) Varghese Kurien
(C) QegayRo> SO (C) Dhirubhai Ambani
(D) ese3e0 FeI'E (D) Azim Premiji
NS s0R0TED dJOstﬁmdo 51. The present Air Chief Marshal is
(A) 2. X PRI (A) B.S.Dhanoa
(B) &’ 00 (B) Bipin Rawat
C) R AIW (C) Sunil Lanba
ED; QIIF D AECSVTIROT (D) Nirmala Sitharaman
0SB, @%03 523% M plepIXAnTabn 52. The largest selling daily in India is
033 (A) The Hindu
(A) 0ozl (B) The Times of India
—— %&‘N&Bw =IEE0% (C) The Indian Express
Eg; gg;i?;i;;ﬁgﬁ (D) The Deccan Herald
° e
2017 3O, Bath TS SREOROL, HTZE 53. Indla’sdflr?: 'h|g?2rz)'1ssee:sluxury train
BT B, Fene FeIpemed Geo flagged off in w
= . (A) Tejas Express
(A) Bemx® SFTX
(B) d)o‘aomr; TR (B) Duronto Express
(C) ;,Jgfme@ SFDFS (C) Samjhauta Express
(D) CORGOR IFBA (D) Rajdhani Express
B3eends 3383 demooﬁada{& 54. Channakeshava temple of Belur was
amrmdddg C PuD M‘l constructed by
(A) Rondd 3 ALA P;«a e ‘Bu\:)s(\\l\ﬂ' (A) Gangas
(B) RpodFdd ‘?{M grisht 30“00\\_\033\&{6\\% \gén s ) Hoysalas
C) tinesD>  * e g B au URL STT(C) Cholas
(D) Zosomcd 55X, i T (D) Shatavahanas
1038, BRrReT (Sotwdd)=) 55. The country that introduced Tobacco to
TOBNE BB X Ez?lasr‘tain
(A) R |
(B) gaoow‘ (B) Holland
(C) T (C) France
D) Boedrrier (D) Portugal
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56. Qed3 moga"o:bdi BorBO&B03ED

57.

58.

59.

60.

61.
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WO eVETee

(A) 2R, BREQOCEIT’
(B) mInreadesioe
(C) emBoeoetso
(D) BTR eeE30°

NIT BIF LB TR F3eBRE
e Bordwdss e,

(A) "3 ora

(B) oouiges o)

(C) gen e

(D) dordnmo heay

239,08 S0eB0dR) Booedxemort ATM

B IR Rk ATF RN edeon

330R3e8d. FOM,

(A) e BB

(B) modbmedmertainy Bednims

(C) deagsmon wOEs) wrdosoen

(D) wm,08° 5003 ERSRRRE wod
SRneRYge

nz0 (Carrot) RR39 3508 Bon @0k
won

uter Ring Road Hosakerehaljj
] B alli C
K. 3rd Stage, BENGALURU - 56{)

TEFR0N BFV0es* addruﬁeod
ETE0D o0&

(A) B8Try

(B) wedeod Tmer

(C) IR 07

(D) P00 cdRwe®

1924 8 ¥ Togy o sor=
0833 333 FeorGRD
(A) TR FB0D

(B) woonomopo des*

(C) Sdzozy mopez

(D) &R wRots

56.

57.

85

58.

59.

, Srishti School of Business By; dinyg
S

Vi 5 v 6’0‘

61.

Wy

The instrument used to find the densj,

of water is

(A) Barometer
(B) Thermometer
(C) Acidometer
(D) Hydrometer

The type of soil largly found in :[he
northern maidan of Karnataka is

(A) Black soil

(B) Laterite soil
(C) Alluvial soil
(D) Desert soil

ATM cards have to be cut accross the
magnetic strip while closing the bank
account because

(A) Itis mandatory

(B) To avoid the mis use of it

(C) To withdraw the amount fastly

(D) To ensure the closure of the
account

The food storage part in Carrot
plant

(A) Root

(B) Stem

(C) Leaf

(D) Flower

. The first Indian woman to climb Mount
" ‘Everest .

(A) Dicky Dolma

(B) Bachendri Paj
(C) Harman Kauyr
(D) Poonam Yadav

Belgaum National Congress session of
1924 was presided by

(A) Jawaharlal Nehry
(B) Bal Gangadhar Tilak
(C) Mahatma Gandhiji
(D) Annie Besant
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62.

63.

64.

65.

66.
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uﬁ.ra £3 T03RBoE e SA3ReBIR
28 2ooBRoDD SN B Zms
E.@ 2ee F30 aoozsﬁz%mozso
"’draedewada DR VRN
DRea TN Eozi.zyogéﬁ ol
(A) P800 vRE SeBHNYR) s
DDTT Od@ojaab uw,ow
gosaafb@do
(B) Room? DERT grors T3EIIOHR)
QUBORIRT)
(C) grecs Brimezodoy uwéfaodo
35333 8003(.‘30333@!33
(D) m%dwda &oBBoI e @366&"3

L3R BDSDRD

RAMS % 3 o1nY53)

(A) ocw® esﬁ—f BoBRO

(B) T oda’;:" e:sé—e 230530
(C) o, ) oTER e oD ,
(D) ouc 00" Gz BP0

BT 2,00 2308 (Input) TGTSONT.
(A) 2y0830°
(B) Ag50°

(C) 380" . . Outer Ring Road, Hosakereh
(D) sex3pec®s B.SK..3rd Stage, BENGALURU|-

B BENRINITE), O30 word BBeedon”
Por’g’Jo' eSATS 9 |
(A) 20.R°. LOBRER"-7

(B) 0.o%°. R*F-2007

(C) o.=° a@cf—

(D) 0.7 "’do‘moooow—zow

cIRYTe BEFaets Soz080Q, AR
83 WB 3RO T dozjmz{)@}a"

(A) 9(95%;39‘5 33
(B) * (783 u3)
(©) = (Rnss)

(D) + (#oﬁvzd )

UJWALA ACA:}E

62. You are a union leader involved in

63.

a union strike. Management offers
immediate promotion to you only to
withdraw from strike. What is your
reaction.

(A) tryto convince the management to
fullfill the minimum demands

Not accepting the promotion
offered by management
accepting the sudden promotion
and withdraw the strike

try to convince the workers to take

back strike

(B)
(C)
(D)
Abrration of RAM is

(A) Read Access Memory
(B) Random Access Memory

"(C) Random All Memory

64.

(D) Read And Write Memory

It is an input device
(A) Printer

MY (B) Speaker
# 784, Srishti School of Busime Building(C) Projector
lli Cross,

560 085 (D) Keyboard

65.

- 66.

Which one of the following is an
‘operating system’ ?

(A) M.S. Windows-7

(B) M.S. Word-2007

(C) M.S. Excel-7

(D) M.S.‘Powerpoint-2007

In any spread sheet formulas are
always begins with the symbol.

(A) ? (question.mark)
(B) * (asterisk)

(C) = (equal)

(D) + (plus)

y
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67.

68.

69.

70.

71.

(B) eq

B950R womImBren Se3x Fobd el

-16-

AnRZe Toor FOQOFFTY doos;‘fjd
o"aracs’ajemﬁc;;; B3 $YNT oz
BPFIBOOT TpeworPre3rd OTZOS 9
(A) o0F8 genas

(B) @03 3n-

(C) esde en’%ad:@@g,

(D) =seg d

3030 Doy 00D 230© FoQor e 5'3%3
TRED OF[or) 83 B0 &moﬁa’s@{
BREATEDAS,

(A) 12 Je moze

(C) e-m; 8
(D) SBowor 14

2,08 TN a’cr%ea 6@%3601)5&
JeB In@ew QT FoFBG xioajzf
(A) 100-100 803 Bedy,
(B) 500-500 803 Ty
(C) 1000-1000 8038 T3y
(D) 2000-2000 %03 éa&z)d

W

T T BN 903 192603a

Q

20OFT

BE, BT Bogs

e F)

B . UJWALA ACAL
(B) 10 # 784, Srishti School of Busine
(C) 50 Outer Ring Road, Hosakerehd
(D) 100 B.SK. 3rd Stage, BENGALURU

SWF LT §rom RoR7e (oo e =02
DU Tes OIN) LDIeVbIevul oV oIS IS

QeeIedd,

(A) DY WBDTOBFHNLD

(B) eiraeﬁzjmé_\g epl~brih
(C) &nedzed D) Qo3

67.

68.

70.
ROPS) dncomargRgen BoeEs Rak
S  under' Trade
JEMY (A) 7
mBuilding.(B) 10
lli Cross,
- 560 085

(D) DpoSR DD S Howz

69.

71.

[

intends to go o
I employeeg '
sft:ﬁl((zogior permission of following
authorities is required.
(A) Labour Department

(B) Management
(C) Permission not necessary

(D) Government

World Day Against Child Labour is
observed on the following day.

(A) 121 gune
(B) 15t May
(C) 8! Aug.
(D) 14" November

In a Factory Welfare Officer to be _
appointed if the no. of employees is
more than

(A) 100 and above

(B) 500 and above

(C) 1000 and above

(D), 29_QO and above

The minimum number of workers
required for registration of Trade Union
Union Act, 1926

(C) 50
(D) 100

Under Karnatakg Industrial
Establishment (National and Festival
Holidays) Act — leave with wages has
to be given on following election.

.(A) All Elections
(B) Loka Sabha ang Rajya Sabha
(C) Loka Sabha ang Vidhana Sabha

(D) Vidhana Sabha ang Vidhana
Parishat

S-2

Scanned by CamScanner



O

72.

73.

74.

75.

76.

77.

D

&% eDOSIT Ty, e0% 8,678

A D

(B) &ewer eR=
(C) =08
(D) g3

@%730%01) AP OONT Ik @’ms
TODF TS

(A) @TIT ST dees

(B) odo-gootyr -

(C) ¥ng

(D) 238"-3-onzt

‘593%3 DOBETHOR DTOTeI BeseoDd
300 WAN IY

(A) Sragorimeos
(B) DesoooEse

ALA ACAL

-17-

72,

73.

74,

The National Game of Australia is
(A) Football

(B) Table Tennis

(C) Hockey

(D) Cricket

The first Secretary General of UN
Secretariate

(A) Dag Hammarskjold
(B) U-Thant

(C) Trygvelie

(D) Ban-ki-moon

The famous Khanderaya Mahadeva
temple is located at

JEMY (A) Ranathambore
ks Buitding(B) Khajuraho

) e { Busme
(C) Hoexrzo* #TM.Snsht\SGW“ a\\icmﬁgééC) Jodhpur

(D) wEneo* Quter Ring

B.SK. 3nd Stage, B
BRTT 2T S3pess” eomd
(A) oedw |

(B) w0200

(C) =5

(D) 33

T3 rf:acaz%d #o«b@mgﬂ s:b)s%#@d)
(A) Tmes=dod

(B) oome

(C) TomTOT

(D) =008

TINSRNIY, D8 Oapesm SROF TS

(B) oéjﬁmaa% \,//‘//

(C) aeR
(D) ==©oe

4, Hosakereh

75.

76.

77.

(D) Chittur

Shudraka’s ‘Mricchakatika’ is a
(A) Drama |

(B) Novel

(C) Poem

(D) Story

Constitutional head of the Indian
Republic

(A) The Prime Minister

(B) The President

(C) The Governor

(D) The Chief Minister

Bio-degradable pollutant among the
following
(A) DDT
(B) Kitchen Waste
(C) Lead
(D) Mercury
S-2
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7 . ‘ ‘ LI | ’ ‘ U
8. '33Y aboh ‘uird !, ‘eI, oy WOy,

TOURI 'R, ‘T, ‘T’ cbdgt‘deaimas
ab@i_g'ﬁeamqwa{g;agwaodzdddd'u%
Spvoben sumodnenths we)

(A) wesbaz

(B) g,

(C) &

(D) oL

78.

N

It ‘orange’ is called ‘butter’, ‘butter’ is
called ‘soap’, ‘soap’ Is called ‘ink’, ‘ink’
is called ‘honey’ and ‘honey’ is called
‘orange’, which of the following is used
for washing clothes ?

(A) Honey

(B) Butter

(C) Ink

(D) Soap

79. %) BOWONCKD YUBTHREVDTN 70 m| 79. A girl travelled a distance of 70 m
BOR, Jo33 adg 80O 20 cm zd@ﬁaa_ang! towards the north. She then turned to
3 @cg% 305N 80 M B8O, e2033on the left a'md walking about 20 crn, turned
3‘?)& wog 45° 30or%Y. BrREd e left again and walked 80 m. Finally s.'he
2 i ;@ s | turned to the right at angle 45°. In which
. &0 mﬂcmj/av ® P 3 1A, direction was she moving finally
(A) Foo3, SEMY @ South West
(B) Bszox CA | Aoy
) vl ' Business guiding. (B) North East
(C) =oobz; g4, Stishi Sﬁ“goHosav,ereha\\'\ C‘;sggas - (C) North West
D) @ ter Ring RO L n uRD- S0 52 by south
(D) = Bosu}\ o Siage, BENGA (D)
80. ifaégd:d [ ﬁiob@awdid_;g Wd’%@% 80. In the given Venn diagram, region
03030, FAVPRS Beod representing youth who are employed
< but not educated is
o383 5308
’é e Youth ’é Educated
& ©
wdr%erbg Employed
(A) 4203 (A) 4only
(B) 5,6 (B) 5,6
©) 1,47 ©) 1,47
(D) 4,7 (D) 4
S-2
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min T

81. =¥ evimd b 81
T er— © I decpest ocean i
{Bl g — l" Pﬂﬂl!lc Qcoan
oL e B
(C) tAm i oammricd (B) Indan Ocean
) Ny i (C) Atantc Ocean
SrrLT = . (D) Arctic Ocoan
) () [x
B2. [FJ ~ {:—.‘ ltF] ?:...: B82. %mr’tﬂﬁﬂ form ol
-‘-".cll!_:'LL_.."‘.""E [1‘.] u[-'-i]' -{ET T s
(A) 0 ) ) et %, Al
(8) 1 (A) 0 at-hi Aavh-20
83. 71‘#5-*"%’11{:*:1_; wZErmrod| B3, The fraction which has non-lerminating
SEEnoddad ST o recurnng decimal expansion is
7 * 7
(A) == (A) —=
40 40
3 yJWALA ACADEMY 3
B) 75 yrie snSercae Eanen B (8) o5
Cuter Rng Rz, AISMETRIES e 4
©) & gevx i Suge BENGMIRU-SRIE(C)
= orZ
o) 2 LAEET
1 '
B4, toclrIRodUZecdd 4% dex| 84. Thethird and ninthtermotan AP are
e 4 SO - 8 S deat 4 and - B respoctively, then the Iith
e e term is
(A) -4 ‘ (A) ~4 a4 = Y
B) -2 @ -2 aaid %
(€ 0 (C) 0 a = -2
(D) 2 (D) 2 a -
85. oo 2 em = 1000 km wvdxtod | 85. Amap is given with a scale of
¥R oteand o Soab JeTiv 2 cm = 1000 km then the actual
ot A0 2.5 om wed e S Herie N w Datmen 14 1o o pvcsa in
e O y stance in the map is
Mréﬂmdm{'mm 25cm
(A) 1200 Km _ (A) 1200 Km
(B) 1050 Km (B) 1050 Km
(C) 1205 Km (C) 1205Km
(D) 1250 Km (DY 1250 Km
D S-2
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86. dotrbI TBNYRY Ao uBToemon | 86.
dochr,
1) Epitaxy A
2) Episode ,;} N
3) Epigene \ Q #Qf\%&'@’
4) Epitome & & & &
5) Epilogue vgb ‘$§
¥ &S
(A) 1,2,8,4,5 NG %,.g%
B) 3.2,54,1 DSFe
A0) 8.5,2,1,4 g &
F o5
(D) 5,4,2,1,3 % Q%c;:
87. BROMCMOZY, Acdd aB@pnRdes 87.
BOFEI0DTRd 202 B adw we
AnYatalolnd TOYFADTI. A =03) B 3@5a3
e =3 BORONOLRT. C B0 A 3
ate adtpar{degp%d WOPINAR Cob
WIBed ? e
(A) 12 Je
(B) 11 e
(C) 10 e
(D) 9 Je
88. ‘A’ ol '+’ &8 ‘B'odn '~ =33, ‘C'odw|  88.
‘X' &30
(10 c4) A (4 c 4)B6 323
(A) 60
(B) 56
(C) 50
(D) 46
8, 12,21, x &%) 42 08 X0ox0 20 &TT 89.
X' &3S ‘
(A) 16
(B) 18
(C)
(D) 19

Arrange the following word according
to dictionary arrangement
1) Epitaxy

2) Episode

3) Epigene

4) Epitome

5) Epilogue

(A) 1,2, 3,4,5

(B) 3,2, 5,4,1

(C) 3,5,2,1, 4

(D) 5, 4,2, 1,3

In a row of boys, A is fifteenth from the
left and B is fourth from right. There are
three boys between A and B. C is just
left of A what is C’s position from the
right ?

(A) A2 e

(B) 11th

(C) 1oth

(D) gth

If ‘A’ stands for ‘+', ‘B’ stands for —,
‘C’ stands for ‘X’. Then the value of
(10c4)A(4c 4)B6is

(A) 60

(B) 56
(C) 50
(D) 46

The mean of 8, 12, 21, x and 42 is 20
then the value of ‘¥’ is

(A) 16
(B) 18
(C) 17
(D) 19

()" %

(9 W) 4
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(A

90. 3RFEIE BowoPRT o VWD 90. One of the Audio file extension is
(extension) gmond (A) « mov
(A) « mov
(B) « mp3 (B) « mp3
(C) «jpeg (C) «ipog
(D) « mp4 (D) « mp4
91. ORRERTFEROTA 363 FobI, BN | 91, The Intensity of poison can be reduced
TRBWBTE) by making the victim
(A) RRem DRRJHD (A) By drinking soda
(B) 038 InBHR (B) Vomit
(C) =R (C) Cough
(D) TR Bowd DRROJHD (D) By drinking sugarcane juico
92. VIR WORT BPOWPTWOT [803BW,| 92. By having good environment, Improves
B oD B8 RO, VBRORPWTTD. every individuals level of
(A) =Brer or.& (A) Health status
(B) 333, $ § $$(B) Personality
(C) =R BRoweSs QQ, 55’%&) ‘533 (C) Social adjustment
(D) o088 R é; fg’ ;§§ (D) Personal habits
NN
93. RORBY B1 BOBII) TERVBITD v§§’§:3. In lime this is found
(A) RpeB0o30 ‘ q‘-’g SE (A Sodium
(B) S0 SESS (B) Calcium
(C) Tpezyaodo . D ,@é@j (C) Potassium
(D) RR7ieaod0 %o % (D) Magnesium
94. Q=POB TP FRBT FZoD wFLeSoWS | 94, The main characteristic feature of the
(A) 2edcinnEs snake bite
= (A) Dysentery
(B) @ZBadngRmen3s (B) Heart attack
(C) Bexad ema%od ézsa‘}{;gd (C) The temperature of the body
L increases
= (D) The tongue will be stammering
95. 8:S ATt AmmBOIRRLE, N 95. The vitamin that helps the eyesight
(A) & TR (A) C
(B) @ (B) B
€ & (C) A
D) a (D) D
S-2
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96. In any factory minimum quantity of

96. oIRTe BoTFIODY T FoLOF BT :
LBNARI T 6@%&@0@5 Qeda drinking water 10 be pr ovided per
aga(ma person ig
(A) 10 Oe. (A) 10 Ltl,
(B) 15 ®e. (B) 15 L1,
(C) 5 & (C) 5Lt
(D) 20 e, (D) 20 Lt
97. BneDd B TOR 5oFF0 Tody | 97, Under Motor Transport Workers Act,
1961 3& Fetdd moﬁ#ozjn Q00T 1961 motor transport under takllng
(A) TR ST oo Fones means, an establishment engaged in
API < O] #ofé) (A) Carrying passengers by road
(B) OF Ropos Zoteds 302 RO (B) Carrying passengers and goods by
TN =S ;'a‘ozz) ' road
(C) TR @Buwews K08 Tones BRES :don; (C) Carrying goods by road
(D) TR onie we Sene @ Bwed Ko ~ (D) Carrying goods by water and
ROTVES ST RO, - road
98. Z=NR Be3S TS 1976 d@odae;, +98. Under Equal Remuneration Act, 1976
33 3PB0B=O BT, PSS ) Heaz 7. there should not be any discrimination of
QODRONTD | &3 T R0TeIT.. < wage and service conditions between
(A) ORI PooA  (A) Male and Male
(B) BOR 3033 @& " (B) Male and Female
(C) ?%iﬁé_% R0&? (C) Female and Female
(D) osr ) s80e3 & (D) Adultand Adolescents
| S -
99. Seezdd 0N RO 222,08 éu Q’g > Rest room to be provided to motor
érad@ojodgt B3 FNT02 FoF BT d’ 'éf :é" ~ transport workers in a motor transport
Road, AQY, wENRLIed. <D § § establishment when no. of workers is
(A) 100 808 ), < 5T < (A) More than 100
(B) 20 go3zd), NS HE  (B) More than 20
(C) 50 &03 @), S5sF  (© Morethanso
RN
(D) 10%03 @), Q,@'sé’f (D) More than 10
100. BTFINGS), Bodwo TOFBON & | 100. The following statement in right on a
ROWORRTI0S &3 FFNS 5308, X0 9. factory i.r. of women employees
(A) 008 9 deeOUTS (A) Night shift is prohibited
(B) t&0E0 dedeacs (B) Overtime prohibited
(C) ReDDT, DREDAT (C) Uniform is prohibited
(D) BobmT e ek (D) Adult employment is prohibited
S-2
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Branch - |:
#784, Srishti School of Business Bunldmg,
Outer Ring Road, Hosakerehalli Cross,
BSK 3rd Stage, Bengaluru - 560085.

Branch -1l

#2032, 18 A’ Main 9th Cross Road ,
~ J.P.Nagar, 2nd Phase, Opp. to ' Man|unq’rhq K.U.
- Tirumala Temple Bengaluru - 78. Director

@ 77959 59079
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